23.2.23 Year 2 Maths- We have been so busy learning about
multiplication! We can recognise and talk about the equal groups. Can
you continue your learning about the symbol we can now use?

Complete the table.
The first one has been done for you.
Addition Multiplication

24T+ 42 4% There are equal groups
5+5+5 with in each group.
3+3+3+3+3 + + + = 20
2=10 . - 20

a) Draw a picture to match the

multiplication story. ) .
P d b) Write an addition sentence and a

There are 3 trees with & birds in each tree. multiplication sentence to match the story.
There are 15 birds altogether.

Use counters to help you complete the

number sentences. The total is 16
What could the addition and the
a) 3 x = 12 multiplication be?
b) x4d=8
c) 2= = 10




